
da i= 208362203 fino a 220 milioni di iterazioni; ds=0.3E10; segue status 220 mil.: 

****************************<br /> 

1=out-software i-esimo<br /> 

2=i= 220000000<br /> 

3=r0= 1.2491473353798E+26<br /> 

4=r1= 1.2491473353798E+26<br /> 

5=rpunto0= 278036620.21159<br /> 

6=rpunto1= 278036620.21159<br /> 

7=rduepunti0= -5.1603047855968E-10<br /> 

8=fi0= 12.906398384468<br /> 

9=fi1= 12.906398384468<br /> 

10=fipunto0= 1.3891447972326E-26<br /> 

11=fipunto1= 1.3891447972326E-26<br /> 

12=fiduepunti0= -6.1839484335276E-44<br /> 

15=k(f(rpunto1)) = 0.37558306998464<br /> 

***<br /> 

16=time_s=ACC=clock_fisso= 4.1833333288072E+17<br /> 

17=time_t=t0= 77791234402.811<br /> 

18=time_t=t1= 77791234402.811<br /> 

19=tpunto0= 1.8205776257161E-7<br /> 

20=tpunto1= 1.8205776257161E-7<br /> 

21=tduepunti0= 2.5381573134954E-25<br /> 

***<br /> 

22=v=278036624.48648<br /> 

23=v_TG= 0<br /> 

24=v_TOT= 278036621.93169<br /> 

25=fi_gradi= 739.48215614448<br /> 

26=x0= 1.1776279008508E+26<br /> 

27=y0=4.1660721245615E+25<br /> 



28=x1= 1.177627909588E+26<br /> 

29=y1= 4.1660721554711E+25<br /> 

***<br /> 

36=rgi : = 3.12E+26<br /> 

****************************<br /> 

 


